
Chem 14D Winter 2021 Midterm 2
CHRISTINA KILKEARY

TOTAL POINTS

36 / 52

QUESTION 1

Question 1 10 pts

1.1 Prediction 2 / 4

   + 4 pts Correct product

   + 3 pts Fake stereochem/same product drawn

twice/wrong regiochem

✓ + 2 pts Incorrect attachments

   + 1 pts Not aromatic

   + 0 pts Blank

1.2 Mechanism 6 / 6

✓ + 6 pts All arrows Correct

   + 5 pts 1-2 mistakes in arrow pushing

   + 4.5 pts 3-4 mistakes in arrow pushing

   + 3.5 pts Half the arrows are drawn correct

   + 1.5 pts 1-2 correct arrows

   + 0 pts Blank

QUESTION 2

Question 2 10 pts

2.1 2 a 1 / 2

   + 2 pts Correct product mixture with correct

stereochem - R,R, and S,S

✓ + 1 pts Epoxide with wrong stereochem/wrong

epoxide/stereochem not clearly shown/wrong final

structure

   + 0 pts No partial credit

   + 0 pts Blank/Not an epoxide

2.2 2 b 2 / 2

✓ + 2 pts Correct product mixture with correct

stereochem

   + 1.5 pts Wrong attachments/wrong

stereochem/one product

   + 1 pts Not all stereoisomers drawn assuming 1 eq.

of Williamson ether synthesis

   + 0 pts Blank/no partial credit

2.3 2 c 2 / 2

✓ + 2 pts Correct product mixture with correct

stereochem

   + 1 pts Incorrect stereochem/wrong

attachments/one product

   + 0 pts Blank/No partial credit

2.4 2 d 1 / 2

   + 2 pts No net reaction/shows product of step 2/just

the aryl alcohol

✓ + 1 pts Wrong regiochem/wrong attachments/Li

and OH present on the same ring

   + 0 pts Blank/no partial credit

2.5 2 e 1 / 2

   + 2 pts Correct product with correct regiochem

✓ + 1 pts Incorrect attachments/wrong regiochem

   + 0 pts Blank/no partial credit

QUESTION 3

Question 3 10 pts

3.1 3 a 4 / 6

   + 6 pts All boxes Correct

✓ + 2 pts 1st box correct

   + 1 pts wrong attachments/carbon count in 1st box

   + 0 pts 1st box blank/no partial credit

   + 2 pts 2nd box correct

   + 1 pts 2nd box partially correct/E1 and not E2

shown for last step/solvents missing etc

✓ + 0 pts 2nd box blank/no partial credit

✓ + 2 pts 3rd box correct



   + 1 pts 3rd box wrong attachments/wrong carbon

count/fake stereochem with multiple cylcohexyl

products

   + 0 pts 3rd box blank/no partial credit

3.2 3 b 4 / 4

✓ + 4 pts Correct product

   + 3 pts Multiple products/fake stereochem/wrong

regiochem

   + 2 pts Incorrect carbon count/wrong attachments

   + 1 pts Some Aryl molecule

   + 0 pts Blank/no partial credit

QUESTION 4

4 Question 4 6.5 / 10

   + 10 pts All Correct with correct carbon sources and

solvents and OM reagents and selectivity properly

shown

   + 9.5 pts Mostly correct with a few small errors/E2

reaction possibility but all solvents, carbon sources,

OM reagents, selectivity are proper/missing selectivity

on one step

   + 8.5 pts >75% correct with correct carbon sources

and solvents and OM reagents shown and selectivity

shown

   + 7.5 pts Correct with correct solvents but wrong

carbon sources/OM reagents not shown/selectivity of

reactions not shown/missing selectivity

✓ + 6.5 pts Mostly correct but possibility of E2

reactions and wrong carbon sources/solvents

missing/OM reagents missing/selectivity missing

   + 5.5 pts 50% correct and mostly on the right track

   + 4 pts Showed a few steps

   + 0 pts Blank

QUESTION 5

5 Question 5 4.5 / 10

   + 10 pts Correct method with proper carbon

sources, OM reagents shown, selectivity shown when

applicable, solvents shown properly

   + 9.5 pts A few small errors but right carbon

sources, OM reagents, selectivity, solvents etc

   + 8.5 pts Mostly correct with correct carbon sources

(or C sources with 3-4 carbons but not a ring), but

missing selectivity/OM reagent formation/proper

solvents/competing OM reactions

   + 7.5 pts >75% correct with proper carbon sources,

but issues with OM reagents, solvents, selectivity,

used Friedel-Craft's alkylation, used OM in presence

of alcohol etc.

   + 6.5 pts >75% correct with proper carbon sources,

but missing OM reagent formation/selectivity/solvents

   + 5.5 pts Correct or mostly correct but wrong

carbon sources such as a cyclohexyl ring

added/reactions shown that do not work on arenes

✓ + 4.5 pts About 50% correct and mostly on the

right track

   + 3 pts A few steps shown

   + 2 pts Something was written

   + 0 pts Blank

1      looks like you forgot to form your OM reagent to

do this reaction

2      three carbons

3      Not the product of a birch reduction

4      selectivity issue

5      4 carbon chain

6      only 3 carbons now

7      5 carbon chain

8      only 4 carbons now

9      this structure is the same as your last

10      cannot use OM reagents in presence of OH

11      you made a 6 carbon ring from a 4 carbon chain

12      selectivity issue

13      ?

QUESTION 6



6 Extra Credit 2 / 2

✓ + 2 pts I am laughing/crying/both

   + 1 pts You tried your best

   + 0 pts Blank
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